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3. The figure above shows the graph of the piecewise-linear function f. For —4 < x < 12, the function g is defined

(a) Does g have a relative minimum, a relative maximum, or neither at x = 10 ? Justify your answer.

In order foc 9 4o hove o mox or min

ok X=10, q‘ needs Yo be equal +o O
Ond the S\c}h o 3' musT c\\ongg,

%‘ (XY= £(x) ond our %rapk s of
L0) - W s of %l(X\. /
q’(x\ = 0 ot x=10, but %‘(x\
does no change S\gNs (T\«e values
of +he Oroph ore ﬁego\*we

on either side of % =10).

The Gnswer \s nNerhec.
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3. The figure above shows the graph of the piecewise-linear function f. For —4 < x < 12, the function g is defined
X
by g(x) = [ f(r) dr.
(b) Does the graph of g have a point of inflec =47 Justify your answe

\n ocder -@or (3 ‘\‘0 \r\o\\re o\ FO\I\-\- o
inklechon % x=Y, 05 needs ‘o be
CC[UQ\ Yo 0 or DNE ond the s'\cﬁt\
o 0)” Mus C\\Oh()e. 9" () = £'(x)
which is the slope of %ropk %‘\\mr\.
At X=Y4, the slope (dec\vative) ONE
becouse there s & cotner. \he
slope chonges ot X=Y Meoning
the S\ 0f (5”()«\ d\or\qes.

| % hos o Po'\v\% ok \nSlection
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Graph of f

3. The figure above shows the graph of the piecewise-linear function f. For —4 < x < 12, the function g is defined

by g(x) = [ (1) d.

(c) Find the absolute minimum value and the absolute maximum value of g on the interval -4 £ x £ 12.
Justify your answers.

Remember  in ordec for Ytheoe Yo be a
Cevxical nmber | The dervvative needs

to be equal Yo O or DNE and the
5\(3»\ 0§ the dorwodive wus+t chorge

The only X-Valres Fhot ore considered
Cr"\‘\'\ co r\um\oers ore X=-7 ond X=6.

(Rew\em\oer'mﬂ q’(x\ = £(x) .. our gcop}x.)

Since Fhis problem wonts obso (ute
MOX Ond Min, e need ‘o consider
endponts of x=-4 ond x=12Z.

This  problem olso wonrds us Yo
Lird the octuol Voluwes . whch is v.



To find Yhese y-values, we need
4o Substtude w= -4, x=-2, X=0,
Dnd X =12 info g(xngzwwf.

Remember, +o KLind Gn 'wx-\eqro\\ u&s'\r\c}
0\ qm\?}\( we need *o use The ovea

wnder the curve.

(8.~

Q(4)= §7 P61 dx q(2)= §5 $6d dx
=-S§—Q(x\<\x :“32 —?(x\clx

-4+ % ]



gle)= §¢£0)dx  9(2)= § S

On +he intecvol 4 £ X £\2, the maximum

value Lo 9 < B ond the mwmvmum
yolue 35 -<.
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3. The figure above shows the graph of the piecewise-linear function f. For —4 < x < 12, the function g is defined
X
by g(x) = [ f(r) dr.

(d) For —4 < x < 12, find all intervals for which g(x) < 0.

To £1nd Yhe yolues Lor <3Q<\ , We need ‘o
Use the Yolues Loe Lound in poct (c)
ond The area Under the curve.
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